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tha 2™ F =3 (7h), (Y , :
o] ylol7k 25, =3 (1) 9] ! 7 O n
=9 ZolZtax+b oItk a+b dz+zl (b )

[e] =] \ ol .
9] k& oA ST —|\-3m+5‘/

(Z7h 2l |el = (3x +2)2 - 32
= (3x+2+3)(3x+2-3)
= (3x+5)(3x—1)

(W) 9] Hol= (3x + 5)x Al 22| o]

Eao] Zol=
2X(Bx+5+3x—-1)=2x(6x+4) =12x+8
w24 g + b = 20 ©|tt.




3. (x—4-2y)(x-2y+3)= HI/NStH?

@x2—4xy—|—4y2—x—|—2y—12
@ X —dxy+ 4% -x+y-12
@ x®-2xy+ 4% —x+y-12
@ x2-2xy+ 42 —x+2y-12

® xX2—xy+4%-x+2y-12

B

(x—4-2y)(x =2y +3) oA x—2y =12 |3}s}H
(t=4)(t+3) =12 -1-12

t=x-2y= YolH

(x=2y)% - (x—2y) - 12

=x2—dxy+4y? —x+2y-12




4.  x of thet o]ZFA] 9x2 + Ax + B = (ax+a+c—12) (bx—ac-1) ©|

Hoha g off, o] 4lo] ehAFAo] BEli= A< A, B, a, b, ¢ ©f tHat4]
A+B+a+b+c 9 3 Fstolet (Ha b>0)

9x2 + Ax+ B = (px + q) (px + q) 1L 5tA
p=a=b=3(a, b>0)
3+c—-12=-3c-1

c=2,q=-7

S92+ Ax+B=(3x-17)?
A =-42

B =49

L A+B+a+b+c=-42+49+3+3+2
=15




2 +2)2+ (x+2)Bx-1) = Bx-1)2 = —(ax + b)(cx + d) & T,

ab + cd 9 TE& A7 (H, a, ¢ & FF)

@1 o3 ® 0 @ 2 ® -2

B )
x+2=A, 3x—1=B= X|&slH

2A% + AB-B? = (2A-B)(A+ B)
=(2x+4-3x+1)(x+2+3x-1)

=—(x-5)(4x+1)

sab+ed=1x(-5)+4x1=-1




